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Six persons are sitting in a row. Some of them are 
facing North and Some are facing South. They are 
of different ages. Person whose age is even 
numbered doesn’t sit immediate right of the 
person whose age is even numbered. Two persons 
sit between P and T and one of them sits at 
extreme end. Three persons are sitting between 
the persons whose age is 14 and 42. Person whose 
age is 15 sits 2nd to the left of T. There are as many 
persons sit between T and person whose age is 15 
as between the persons whose ages are 15 and 28. 
Q sits immediate right of the person whose age is 
15. One person sits between S and U and neither 
of them sit at extreme end. Q is older than R. T 
whose age is even numbered is older than U who 
faces North. Person whose age is 20 sits 3rd to the 
left of the person whose age is 19. 

छह व्यक्ति एक पंक्ति में बैठे हैं। उनमें से कुछ का मुख
उत्तर कीओर है और कुछका मुख दक्षिणकीओर है। वे
अलग-अलग उम्र के हैं। क्िस व्यक्ति कीआयु सम संख्या
वाली है, वह सम संख्या वाले व्यक्ति के ठीक दायें नहीं
बैठा है। P और T के मध्य दो व्यक्ति बैठे हैं और उनमें से
एक अंतिम छोर पर बैठा है। 14 और 42 वर्ष की आयु वाले
व्यक्तियों के बीच िीन व्यक्ति बैठे हैं। वह व्यक्ति
क्िसकीआयु 15 वर्ष है, वह T के बाएं से दसूरे स्थान पर
बैठा है। T और 15 वर्ष कीआयु वाले व्यक्ति के बीच उिने
ही व्यक्ति बैठे हैं, क्ििने व्यक्ति कीआयु 15 वर्ष है और
28. Q उस व्यक्ति के ठीक दायें बैठा है क्िसकीआयु 15 
वर्ष है। S और U के मध्य एक व्यक्ति बैठा है और उनमें से
कोई भी अंतिम छोर पर नहीं बैठा है। Q, R से बडा है। T 
क्िसकीआयु सम संख्या है, U से बडा है क्िसका मुख
उत्तर कीओर है। वह व्यक्ति क्िसकीआयु 20 है, 19 वर्ष
की आयु वाले व्यक्ति के बाएं से िीसरे स्थान पर बैठा है।

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

Six persons are sitting in a row. Some of them are 
facing North and Some are facing South. They are of 
different ages. Person whose age is even numbered 
doesn’t sit immediate right of the person whose age 
is even numbered. Two persons sit between P and T 
and one of them sits at extreme end. Three persons 
are sitting between the persons whose age is 14 and 
42. Person whose age is 15 sits 2nd to the left of T. 
There are as many persons sit between T and person 
whose age is 15 as between the persons whose ages 
are 15 and 28. Q sits immediate right of the person 
whose age is 15. One person sits between S and U 
and neither of them sit at extreme end. Q is older 
than R. T whose age is even numbered is older than 
U who faces North. Person whose age is 20 sits 3rd to 
the left of the person whose age is 19. 
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21. How many persons are sitting between R and the 
person whose age is 20? 
(a) One (b) Three (c) Two (d) Four (e) None

22.Who among the following sits immediate right of U? 
(a) S (b) Person whose age is 19 (c) T (d) Person whose age 
is 42 (e) None of these

23. What is the position of Q with respect to the 2nd 
youngest person? (a) 2nd to the right (b) Immediate left (c) 
Immediate right (d) 2nd to the left (e) None of these 

24. What is the age of the person who sits immediate 
left of S? 
(a) 14 (b) 15 (c) 28 (d) 19 (e) None of these 

25. How many persons are facing North? (a) Two (b) 
Three (c) One (d) None (e) More than three 
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Six persons are working in a company. Their designations are Chief 
Executive Officer (CEO), Chief Managing Director (CMD), Managing 
Director (MD), General Manager (GM), Chief Finance Officer (CFO), 
Finance Officer (FO). Sequence of the posts are as above i.e. the post 
of Chief Executive Officer (CEO) is higher than Chief Managing Director 
(CMD), the post of Chief Managing Director (CMD) is higher than 
Managing Director (MD) and so on the post of Chief Finance Officer 
(CFO) is higher than Finance Officer (FO). They have different years of 
experiences. They get different annual salaries. Only two person’s 
designation is lower than the designation of the person whose annual 
salary is 7 lakhs. There are as many posts above the post of the person 
whose annual salary is 14 lakhs as below the post of the person who 
have 7-year experience. Annual salary of CEO is 6 lakhs. There are 
three posts in between the post of the persons whose experience are 
4 years and 5 years. Person whose annual salary is 14 lakhs have just 
higher post than the post of the person who have 6 years’ experience 
and just lower post than the post of the person who have 8 years’ 
experience. Two posts are between the posts of the person who have 
3 years and 8 years’ experience. Person whose annual salary is 5 lakhs 
have higher post than the person whose annual salary is 9 lakhs and 
lower post than the person whose annual salary is 4 lakhs. Person 
whose salary is 9 lakhs doesn’t have 4 years’ experience. 
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एक कंपनी में छह व्यक्ति काम कर रहे हैं। उनके पदनाम मुख्य कायषकारी
अधिकारी (सीईओ), मुख्य प्रबंि तनदेशक (सीएमडी), प्रबंि तनदेशक
(एमडी), महाप्रबंिक (िीएम), मुख्य ववत्त अधिकारी (सीएफओ), ववत्त
अधिकारी (एफओ) हैं। पदों का क्रम ऊपर िसैा है अथाषि मुख्य कायषकारी
अधिकारी (सीईओ) का पद मुख्य प्रबंि तनदेशक (सीएमडी) से अधिक है, 
मुख्य प्रबंि तनदेशक (सीएमडी) का पद प्रबंि तनदेशक (एमडी) से अधिक
है और इसी िरह के पद पर मुख्य ववत्त अधिकारी (सीएफओ) ववत्त
अधिकारी (एफओ) से ऊपर होिा है। उनके पास अलग-अलग वर्ों के
अनुभव हैं। उन्हें अलग-अलग वावर्षक वेिन ममलिा है। केवल दो व्यक्ति
का पदनाम उस व्यक्ति के पदनाम से कम है क्िसका वावर्षक वेिन 7 लाख
है। क्िस व्यक्ति का वावर्षक वेिन 14 लाख है, उसके पद के ऊपर उिने ही
पद हैं क्ििने 7 वर्ष के अनुभव वाले व्यक्ति के पद से नीचे हैं। सीईओकी
सालाना सैलरी 6 लाख है। क्िन व्यक्तियों का अनुभव 4 वर्ष और 5 वर्ष है, 
उनके पद के बीच में िीन पद हैं। क्िस व्यक्ति का वावर्षक वेिन 14 लाख
है, उसके पास 6 वर्ष का अनुभव रखने वाले व्यक्ति के पद से केवल उच्च
पद है और 8 वर्ष का अनुभव रखने वाले व्यक्ति के पद से ठीक नीचे है। 3 
वर्ष और 8 वर्ष का अनुभव रखने वाले व्यक्ति के पदों के बीच दो पद हैं।
क्िस व्यक्ति का वावर्षक वेिन 5 लाख है, उसका पद उस व्यक्ति से अधिक
है क्िसका वावर्षक वेिन 9 लाख हैऔर क्िस व्यक्ति का वावर्षक वेिन 4 
लाख है उससे कम पद है। क्िस व्यक्ति का वेिन 9 लाख है उसके पास 4 
साल का अनुभव नहीं है।
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Who among the following has lowest salary? 
(a)Person who is CMD 
(b) Person who have 6 years’ experience 
(c) Person who is GM 
(d) Person who have lowest experience 
(e) None of these 

Person who is GM have how many years’ 
experience? 
(a) 3 years (b) 4 years (c) 5 years (d) 8 years (e) 
None of these

How many persons are senior than the person 
whose annual salary is 14 lakhs? 
(a) None (b) One (c) Two (d) Three (e) More than 
three
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Which of the following is the annual salary of the 
person who is CFO?
(a) 4 lakhs (b) 5 lakhs (c) 7 lakhs (d) 9 lakhs (e) None 
of these

Which of the following pair of combination is/are true? 
(a)CMD - 4 lakhs (b) GM – 7 years (c) MD – 6 lakhs (d) 

CFO – 5 lakhs 
(e) None is true
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Six boxes A, B, C, D, E, and F of different colours, viz., Black, Blue, Green, Grey, Red, and White are 
kept one above the other but not necessarily in the same order. The lowermost position is 1, the 
position immediately above is 2, and so on up to the topmost position is 6. The Grey box is kept 
at the bottom-most position and immediately below the box E. Box E is neither White nor Blue in 
colour. A, the Black box, is kept at the topmost position. D is Red in colour and kept at an even 
number position. C is neither Blue nor Green and kept below D. Box B is not adjacent to D. The 
box on the fifth position is not Green in colour.

छह बॉतस A, B, C, D, E, और F अलग-अलग रंगों के हैं, अथाषि काला, नीला, हरा, गे्र, लाल और 
सफेद, एक के ऊपर एक रखा है लेककन िरूरी नहीं कक इसी क्रम में हो। सबसे नीचे की क्स्थति 1 
है, ठीक ऊपर की क्स्थति 2 है, और इसी िरह सबसे ऊपर की क्स्थति 6 है। गे्र बॉतस सबसे तनचले 
स्थान पर रखा गया है और बॉतस E के ठीक नीचे है। बॉतस E न िो सफेद है और न ही नीला है। 
रंग। A, ब्लैक बॉतस, को सबसे ऊपरी स्थान पर रखा गया है। D का रंग लाल है और इसे सम 
संख्या की क्स्थति में रखा गया है। C न िो नीला है और न ही हरा और D के नीचे रखा गया है। 
डडब्बा B, D के आसन्न नहीं है। पांचवें स्थान पर क्स्थि बॉतस का रंग हरा नही ंहै।
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Six boxes A, B, C, D, E, and F of different 
colours, viz., Black, Blue, Green, Grey, Red, 
and White are kept one above the other but 
not necessarily in the same order. The 
lowermost position is 1, the position 
immediately above is 2, and so on up to the 
topmost position is 6. The Grey box is kept 
at the bottom-most position and 
immediately below the box E. Box E is 
neither White nor Blue in colour. A, the 
Black box, is kept at the topmost position. D 
is Red in colour and kept at an even number 
position. C is neither Blue nor Green and 
kept below D. Box B is not adjacent to D. 
The box on the fifth position is not Green in 
colour.
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11. Which box is Green in colour?
हरे रंग का कौन सा बॉतस है?
A. F B. D C. C D. B E. None of the above

12.Which of the following combinations is correct? 
तनम्नमलखखि में से कौन सा सयंोिन सही है?
A. E - Green B. F - Blue C. B - Grey D. D - Red E. All of the above

13.The Blue box is kept at the _______________________ position.
ब्ल ूबॉतस को _______________ क्स्थति में रखा गया है
A. fourth B. fifth C. First D. third E.None of these
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Study the information given below and answer the questions based on it. There are 8 friends A, B, C, D, E, F, G 
and H in a group. They have their birthdays in different months - April, June, July and August of the same year 
but not necessarily in the same order on different dates viz. 9th and 16th. E celebrates his birthday in the 
month which does not have 30 days. Only one person celebrates his birthday between E and G. C celebrates 
his birthday immediately before E. Only one person celebrates his birthday between C and F. D celebrates his 
birthday before G but not immediate of C and G. Only one person celebrates his birthday between D and A. H 
does not celebrate his birthday immediate of G. G does not celebrate his birthday in the month which has 30 
days. A celebrates his birthday before D. D does not celebrate his birthday which has even number as the date 
of birth. B celebrates his birthday in the month of August but not immediately before or after G.
नीचे दी गई िानकारी का अध्ययन करें और उस पर आिाररि प्रश्नों के उत्तर दें। एक समूह में 8 ममत्र A, B, C, 
D, E, F, G और H हैं। उनका िन्मददन अलग-अलग महीनों में पडिा है - एक ही वर्ष के अप्रैल, िून, िुलाई और 
अगस्ि में लेककन िरूरी नहीं कक अलग-अलग िारीखों में समान क्रम में हों। 9वीं और 16वीं। E अपना िन्मददन 
उस महीने में मनािा है क्िसमें 30 ददन नहीं होिे हैं। केवल एक व्यक्ति अपना िन्मददन E और G के बीच 
मनािा है। C अपना िन्मददन E से ठीक पहले मनािा है। C और F के बीच केवल एक व्यक्ति अपना िन्मददन 
मनािा है। D अपना िन्मददन G से पहले मनािा है लेककन C और G के ठीक नहीं। केवल एक व्यक्ति अपना 
िन्मददन मनािा है D और A के बीच में। H अपना िन्मददन G के ठीक नहीं मनािा है। G अपना िन्मददन उस 
महीने में नहीं मनािा है क्िसमें 30 ददन होिे हैं। A अपना िन्मददन D से पहले मनािा है। D अपना िन्मददन 
नहीं मनािा है क्िसकी िन्म तिधथ सम संख्या होिी है। B अपना िन्मददन अगस्ि के महीने में मनािा है लेककन 
G के ठीक पहले या बाद में नहीं।
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Study the information given below and answer the 
questions based on it. There are 8 friends A, B, C, D, 
E, F, G and H in a group. They have their birthdays in 
different months - April, June, July and August of the 
same year but not necessarily in the same order on 
different dates viz. 9th and 16th. E celebrates his 
birthday in the month which does not have 30 days. 
Only one person celebrates his birthday between E 
and G. C celebrates his birthday immediately before 
E. Only one person celebrates his birthday between 
C and F. D celebrates his birthday before G but not 
immediate of C and G. Only one person celebrates 
his birthday between D and A. H does not celebrate 
his birthday immediate of G. G does not celebrate 
his birthday in the month which has 30 days. A 
celebrates his birthday before D. D does not 
celebrate his birthday which has even number as the 
date of birth. B celebrates his birthday in the month 
of August but not immediately before or after G.
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36. In which of the following month does G’s birthday occur?
. G का िन्मददन तनम्नमलखखि में से ककस महीने में आिा है?

A. April B. June C. July D. August E. Cannot be determined

37.Who among the following is elder to D? 
तनम्नमलखखि में से कौन D से बडा है?
A. B B. G C. F D. E E. H

38.How many birthdays are there in between A and C? 
A और C के मध्य ककिने िन्मददन हैं?
A. None B. Four C. One D. Two E. Three
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39.Who among the following is younger than C? 
तनम्नमलखखि में से कौन C से छोटा है?
A. D B. H C. A D. B E. F

40.Who is the youngest of the given friends? 
ददए गए ममत्रों में सबसे छोटा कौन है?
A. None B. G C. B D. C E. D
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Six persons P, Q, R, S, T, and U are born in 
same month and date of six different 
year viz. 1978, 1982, 1990, 1995, 2000, and 
2006 but not necessarily in the same 
order. (All the ages will be calculated on 
base year 2021). All persons are related to 
each other. T is the father of the one 
whose age is 15 years. The difference 
between T’s age and P’s age is the 
lowest. P is the mother of U, who is a 
male. Q is married to the sister of P, 
whose age is 39 years. S is the sister-in-
law of R. S is older than R but younger 
than Q. There are only two females in the 
family. U is the youngest family member.

छह व्यक्ति P, Q, R, S, T, और U का िन्म एक ही
महीने और छह अलग-अलग वर्ष की िारीख में
हुआ है। 1978, 1982, 1990, 1995, 2000 और
2006 लेककन िरूरी नहीं इसी क्रम में हो। (सभी
आयु की गणनाआिार वर्ष 2021 के आिार पर
की िाएगी)। सभी व्यक्तिआपसमें िडुे हुए हैं। T 
उस व्यक्ति का वपिा है क्िसकीआयु 15 वर्ष है। T 
कीआयु और P कीआयु के बीच का अिंर सबसे
कम है। P, U की मािा है, िो एक पुरुर् है। Q, P 
की बहन से वववादहि है, क्िसकीआयु 39 वर्ष है।
S, R की मसस्टर-इन-लॉ है। S, R से बडा है लेककन
Q से छोटा है। पररवार में केवल दो मदहलाएं हैं। U 
पररवार का सबसे छोटा सदस्य है।
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Six persons P, Q, R, S, T, and U are born in 
same month and date of six different 
year viz. 1978, 1982, 1990, 1995, 2000, and 
2006 but not necessarily in the same 
order. (All the ages will be calculated on 
base year 2021). All persons are related to 
each other. T is the father of the one 
whose age is 15 years. The difference 
between T’s age and P’s age is the 
lowest. P is the mother of U, who is a 
male. Q is married to the sister of P, 
whose age is 39 years. S is the sister-in-
law of R. S is older than R but younger 
than Q. There are only two females in the 
family. U is the youngest family member.
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How is S related to the one whose age is 15 
years?
(a) Paternal Uncle
(b) Maternal Uncle
(C) Maternal Aunt
(d) Paternal Aunt
(e) None of these
Who was born in 1990?
(a) S
(b) R
(C) Q
(d) T
(e) Either (b) or (c)

What is the sum of the ages of S and 
R?
(a) 52 years
(b) 57 years
(c) 47 years
(d) 60 years
(e) None of these
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Which of the following information is 
correct?
(a) R was born in 1995
(b) R is the brother of Q
(C) Both (a) and (b)
(d) U is the son of P and T
(e) Both (b) and (d)

Four of the following five are alike in a certain way 
based on a group, which of the following does not 
belong to that group?
(a) T- 1978
(b) P -1982
(C) Q – 1990
(d) R- 1995
(e) U- 2006
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Eight persons A, B, C, D, E, F, G and H live on 
different floors of the same building having 
eight floors (the ground floor is numbered 
as the first floor while the topmost floor is 
numbered as the eighth floor). They were 
born on the same day of the same month 
but in different years. All their ages are to 
be considered from the base year i.e. 2018. 
G is 42 years old and lives on an odd 
numbered floor below the 5th floor. B is 20 
younger than the one who lives on 2nd 
floor. Only three persons live between G 
and the one who was born in 1984. F lives on 
4th floor and he is 13 years old. A lives on 
even numbered floor. There are three floors 
in between C and D who lives on an even 
numbered floor. H is 34 years old and lives 
on an odd numbered floor. The one who is 
28 years old lives immediate above the 
floor on which E lives. The one who lives on 
ground floor is 5 years older than the one 

आठ व्यक्ति A, B, C, D, E, F, G और H एक ही इमारि की
आठमंक्िलों के ववमभन्न िलों पर रहिे हैं (भिूल को पहली
मंक्िल के रूप में धगना िािा है िबकक सबसे ऊपरी मंक्िल
कोआठवीं मंक्िल के रूप में धगना िािा है)। उनका िन्म
एक ही महीने के एक ही ददन लेककन अलग-अलग वर्ों में
हुआ था। उनकी सभीआयु कोआिार वर्ष यानी 2018 से
माना िाना है। G 42 वर्ष का है और 5वीं मंक्िल के नीचे एक
ववर्म संख्या वाली मंक्िल पर रहिा है। B, दसूरी मंक्िल पर
रहने वाले व्यक्ति से 20 छोटा है। G और 1984 में पैदा हुए
व्यक्ति के बीच केवल िीन व्यक्ति रहिे हैं। F चौथी मंक्िल
पर रहिा है और वह 13 वर्ष का है। A सम संख्या वाली
मंक्िल पर रहिा है। C और D के मध्य िीन िल हैं, िो एक
सम संख्या वाली मंक्िल पर रहिा है। H, 34 वर्ष का है और
एक ववर्म संख्या वाली मंक्िल पर रहिा है। वह व्यक्ति
क्िसकीआयु 28 वर्ष है, E क्िस िल पर रहिा है उसके ठीक
ऊपर रहिा है। वह व्यक्ति िो भूिल पर रहिा है, चौथी
मंक्िल पर रहने वाले व्यक्ति से 5 वर्ष बडा है। D का िन्म
1996 में हुआ था। B उस िल के ऊपर रहिा है क्िस पर C 
रहिा है। एक व्यक्ति का िन्म 1962 में हुआ था।
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Eight persons A, B, C, D, E, F, G and H live on 
different floors of the same building having 
eight floors (the ground floor is numbered as 
the first floor while the topmost floor is 
numbered as the eighth floor). They were born 
on the same day of the same month but in 
different years. All their ages are to be 
considered from the base year i.e. 2018. G is 42 
years old and lives on an odd numbered floor 
below the 5th floor. B is 20 younger than the one 
who lives on 2nd floor. Only three persons live 
between G and the one who was born in 1984. F 
lives on 4th floor and he is 13 years old. A lives on 
even numbered floor. There are three floors in 
between C and D who lives on an even 
numbered floor. H is 34 years old and lives on an 
odd numbered floor. The one who is 28 years old 
lives immediate above the floor on which E lives. 
The one who lives on ground floor is 5 years 
older than the one who lives on 4th floor. D was 
born in 1996. B lives above the floor on which C 
lives. One person was born in 1962.
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How many people live between B and the one who was 
born in 1990?
(a) Four
(b) Three
(c) Two
(d) One
(e) More than Four
Who among the following lives on top most floor?
(a) The one who was born in 1962
(b) D
(c) E
(d) H
(e) C

Who among the following lives on 5th floor?
(a) The one who is 8 years old
(b) R
(c) The one who was born in 1984
(d) C
(e) E
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Who among the following lives just below the one who was 
born in 1976?
(a) D
(b) B
(c) C
(d) A
(e) F

Which of the following combinations is true?
(a) Fifth floor-F
(b) Second floor-E
(c) Sixth floor-G
(d) Eighth floor -A
(e) Third floor-H
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